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1.  
 
 

1.               
18 . %  CuFeS2.  

. 
2.  ( . %): Cu – 5, Fe – 7  S – 8.  

 CuFeS2  FeS2 , ,  
. 

3.  ( . %): Cu – 0,5, 
Fe – 41,0, S – 46,0, Zn – 1,1,  – .  

, ,  
 CuFeS2,  ZnS,  FeS2  

 Fe7S8. 
4.  

 ( . %): Cu  36,5, Fe  7,1, S  12,6, Zn  1,1. , 
    Cu        Cu5FeS4       Cu2S,      Zn   

 ZnS. 
5.   - 

 
. 

6.   ,  “ ” 
1  ( . %):  CuFeS2  12, FeS2  43,  Cu2S  33, 



 4

FeS  9, CaCO3  2, SiO2  1. ,  
. 

7. ,  
 6,  107,3 3 ( .)  100  

. ,  
 SO2  – 12,1 . %. 

8.  
SO2 ? 

9.  (  
),  

 850 0 : 
) 2FeS + 3O2 = 2FeO + 2SO2; 
) 4FeS + 7O2 = 2Fe2O3 + 4SO2; 
) 4FeS2 + 11O2  = 2Fe2O3  + 8SO2; 
) Cu2S + 2O2 = 2CuO + SO2; 
) 2Cu2S + 3O2  = 2Cu2  + 2SO2; 
) 2NiS + 3O2 = 2NiO + 2SO2. 

10.  850 0  
 ( . %):  – 79,  – 20, 

 – 1.  6.  
 – 55 %. ,  

,  
.  
 1 , 

,  FeS  Cu2S  Fe2O3  CuO.  
 0,131 /( ).  

.  
11. , 

? 
12. : )  (FeO, Fe2O3, Fe3O4), 

)   (CuO,  Cu2O)  
850 0  (FeS, Cu2S)  

. 
13.  

 1000 0 :       
) 3Fe2O3 + FeS = 7FeO + SO2; 
) 3Fe3O4  + FeS = 10 FeO + SO2. 
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14.  
 CaCO3? 

15.  
 

SO2 + 0,5O2 = SO3  
 90 %,  6 . % SO2  12 . % O2? 

   G =  94560 + 89,5T.   
  

16.  800 . . .  
       ( . %): N2  75,2, 2  9,8, 

SO2  11,8, SO3  3,2.    
2SO2 + O2 = 2SO3, 
. 

17.  800 0  
 ( . %): CuFeS2  12, FeS2  43, Cu2S  33, FeS  9, 

CaCO3  2,  SiO2  1.  50 %,  
 20 %  ( ). 

 2/3  
SO2,  1/3 .  SO3  

,  ( )  2SO2 +  O2 =  2SO3  800 0  
 0,713.             

 18. : 
)    H4,   )    C2H6,   )    C2H2,   )    C2H4, 

)  C3H8. 
 19.  

 ( . %): H4 – 89,6, C2H2 – 5,7, C2H4 – 2,8, N2 – 0,8, CO2 – 0,7, H2 – 0,4 
  = 1,1. 

 20.  
. %):  )  :  HP – 10,5,  CP – 85,45,  NP – 0,7,  SP – 0,7,  OP – 0,5,  W – 2,0, 

A – 0,15, ) : HP – 4,95, CP – 74,2, NP – 1,42, SP – 0,8, OP – 9,2, W – 
3,1, A – 9,33. 

21. , , 
            ( . %):  H4 – 92,0, 

C2H6 – 3,3, C2H2 – 3,1, N2 – 0,9, CO2 – 0,5, H2 – 0,2.  
 – 1300 0 .  

  = 1,1.  
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 22.  
. 

23.  
 ( . %): H4 – 92,8, C2H6 – 3,9, C2H2 – 1,5, N2 – 1,0, CO2 – 0,5, H2 – 0,3  

  = 1,05. 
24. ,  100 , 

 25 0 .  
25. ,  SO2  

  
3Fe3O4  + FeS = 10 FeO + SO2 

 1000  1350 0 . 
26.  1300 0  

Cu2S + FeO = Cu2O + FeS. 
27.  200  

 0,8 ,  10 ,  
2 10-2 .   4,119 3,   5,2 3. 

28. ,  
. 

. 
29. , 

 12,2 . % ,  
 ( . %): H2S  0,17, CO2  0,7, CH4  88,5, 2H6  6,17, N2  4,46.  
 14,5 3  100 .  

  = 1,1,  
. ,  

 15 %.  
30.     

      = 1,05 – 1,1.  
 ( )   

? 
31. ,  

 300 2,  
 6 /( 2 ).  

 29. 
32.  

 1400 0 , ,  
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0,16  0,005 .  

2CO2 = 2CO + O2 
 3,5·10-21  1000 . 
 33.  

, ,  
.  

? 
 34.   ,           

,  12,2  
 100 .  

  = 1,1.  
. , ,  

,  
1,30 /( 3·0 )  30 0 ,  – 
1300 0 . , 

 20. 
 35.  

 (  34),  
 (30  . % 2)? 

36. ,  
 1300 0 : 

) FeS + 3O2  + SiO2 = 2FeO  SiO2 + 2SO2; 
) 6FeO + O2 = 2Fe3O4; 
) 3Fe3O4  + FeS + 5SiO2 = 5(2FeO  SiO2) + SO2. 

37.  
 Fe3O4? 

 38.  1300 0  
: 

) Cu2O + FeS = Cu2S  + FeO; 
) Cu2S + 2Cu2O = 6Cu + SO2; 
) 2Cu + FeS = Cu2S + Fe. 

39.  
 Cu2O? 

40.  
  60      ,    99,2  %  Cu.     
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25,3 % Cu, 45,2 % Fe. ,    
,  3 % Cu  48 % Fe.  – . 

 41.  Cu2O  CuO  
 1200 0 ? 

 42.  
 0,2 . %.  

 Cu2O , , . 
 43.  

                 
0,5 . %? 
 44.  SO2  

 
Cu2S + 2Cu2O = 6Cu + SO2 

 1200 0 , ,  
. ,  

. 
45. ,  80  

(99,2  . %  Cu),          (22,5  .  %  Cu   
47,7 . % Fe),   
400 2       2,7  /( 2 ).       

 50 % .  
 12 ,   2,5 .  

 2,7 . % Cu  49,2 . % Fe. 
 46.  70  
Cu2S.   Cu  Cu2S  
10 . %. ,  

,  
 500 3 ,    

 0,95. 
 47.  

 500 3 .  
 0,95.  80  

(99,2 . % Cu). ,  “ ”. 
 48.  

,  70 . % SiO2.  
 1  ( . %):  Cu – 25,3, S – 24,9, Fe – 45,2, 
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O – 4,6.        ,    ( . %):  Fe – 48, SiO2 – 23, 
Cu – 3. 

49. ? 
50.  

1160 0 : 
) Cu2O + Fe = 2Cu + FeO; 
) Cu2O + Ni = 2Cu + NiO; 
) Cu2O + Zn = 2Cu + ZnO. 

51.  
? 

52. , 
            ( .  %):  HP – 9,5,  CP – 86,45,  NP – 0,7, 

SP –  0,7,  OP – 0,5, W – 2,0, A – 0,15.  
  = 1,1. , 

.  – 1350 0 . 
53.  32  

,  
. %): H4 – 90,5, C2H6 – 4,4, C2H4 – 3,4, N2 – 1,1, CO2 – 0,4, H2 – 0,2.  

  = 1,1,  
 1000 3 . ,  

,  10 %  
.  – 1300 0 . 
54. ? 
55.  1160 0    

Cu2O + Me = 2Cu + MeO, 
 Me  – ) Fe, ) Ni, ) Pb, ) Zn. 

 56.  
,  – 1400 0 .  

 ( . %): H4 – 89,6, 
C2H2 –  5,7,  C2H4 – 2,8, N2 –  0,8,  CO2 –  0,7,  H2 – 0,4.  

  = 1,15. 
57.  

  ( . %):  HP – 10,5,  CP – 84,4,  NP – 0,7,  SP – 0,7,  OP – 0,5, 
W – 3,0, A – 0,2.  

  = 1,1.  
Cu2O + CO = 2Cu  + CO2, 

 – 1200 0 . 
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58.  
 1,15  

0,9. ? 
59. ,  

 0,3  
. 

60.  1200 0  
 ( . %): Cu – 98,9, S – 0,25, Fe – 0,45, 

Ni – 0,2, O – 0,1. ,  
  ,  

. 
61.  “ ” ? 
62.  1160 0  Cu2O  

 8,4 . %. , 
 Cu2O, . 

63.  “ ”  
               
. ,  

          ,         
1200 0 . 

64.  
, 
 

,  
? 

65.  
, ,  

0,5 . % Cu,  240000  
-1 (99,9 % Cu).  (%): 

 – 92,0,  – 99,7,  – 93,5, 
 – 98,8,  – 99,8,  

 – 99,7. 
66.               ( .   %): 

Ni – 6,5, Cu – 6, Co – 0,15, S – 29  Fe – 39.  
, , : 
 CuFeS2,  (Ni,Fe)9S8,  (Co,Fe)S2  

 Fe7S8. 
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67. ,  
? 

68.  3,65 . %  
69,83 . % .  

. 
69. -

? 
70.  

? 
71. ,  

,              ( .  %):  Ni – 69,0, 
Cu – 3,1, Co – 0,9, S – 23,5, Fe – 3,0  – 0,5.  

. 
72. ,  “ ” 

1  (% ): Ni – 72,0, Cu – 2,4, 
Co – 0,6, S – 21,0, Fe – 3,4  – 0,6.  

73.  SO2 ( ) 
, ,  

 72,  
 – 1,2. 

74.  
? 

75.  
 1000 – 1500 0  

: 
) 2NiO =2Ni + O2; 
) S2 + 2O2 = 2SO2. 

76.  1300 0  
Ni3S2 + 4NiO = 7Ni + 2SO2. 

, 
 

  
Ni3S2 = 3Ni + S2, 

  G0 [ ] = 331,54 – 0,163 T  [8]. 
77.  

,  
 2 . % ? 
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 78. ,  
           ,       

1500 0 :  
) NiO + CO =Ni + CO2; 
) Fe2O3 + 3CO = 2Fe + 3CO2; 
) Cu2O + CO = 2Cu + CO2; 
) 2NiO + C =2Ni + CO2; 
) 2Fe2O3 + 3C = 4Fe + 3CO2; 
) 2Cu2O + C = 4Cu + CO2. 

79.  1600 0  
CO2 + C = 2CO. 

80. ,  
: 

) 2NiO + C =2Ni + CO2; 
) NiO + C =Ni + CO. 

81.  
 Ni3C ? 

82.  1453 0  
 0,24 . %.  NiO  Ni,  

. 
83.  

 ( . %): Ni – 69,0, Cu – 3,1, Co – 0,9, S – 23,5, Fe 
– 3,0  – 0,5  

.  –  –  
.  

 (  1 ),  
96 . % , , ,  

. 
84.     

                   1000 – 1700 0  
CO2 + C = 2CO. 

85.  
? 

86.  
1600 0 : 

) Ni3C + NiO = 4Ni + CO; 
) Ni3C + 2NiO = 5Ni + CO2; 
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) Ni3C + CO2 = 3Ni + 2CO, 
,  

 
Ni3C = 3Ni + C 

:   G0 [ ] = –33932 + 7,11 T [8]. 
87.  4,5 , 

 2 . % .  NiO  
 0,1 . %? 

88.  
) 2, ) ) .  

 1600 0  
. 

89. ,  
 TiO2 ? 

90.  
 

.  
,  

? 
91.  

1500 0 : 
) FeO TiO2 + C = Fe + TiO2 + CO; 
) FeO TiO2 + 2C = Fe + TiO + 2CO; 
) 2(FeO TiO2) + 3C = 2Fe + Ti2O3 + 3CO; 
) 3(FeO TiO2) + 4C = 3Fe + Ti3O5 + 4CO; 
) TiO2 + 3C = TiC + 2CO. 

92.  500 0  
 

Fe2O3 + 2TiO2 + C = 2(FeO TiO2) + CO 
 –29,35 .  

 1000 0 ,  
 –117 . 

93.  
 3 %? 

94.  
 ( . %): TiO2 – 57,6, Fe3O3 – 19,7, 

FeO  –  14,5,  SiO2  –  2,1,  Al2O3  –  1,3,  MgO  –  0,7,  V2O5  –  0,2,  CaO  –  0,2, 
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 – 3,7. ,  2 . % ,  
,  5 . % FeO.  

 (87 . % ).  (  
 1 ) , ,  

. 
95. , ,  

 1500 0 : 
MeO + C = Me + CO, 

 0,5 ? 
 96.  

 
? 

 97.  
      ( . %):  TiO2  –  85,0,  FeO  –  5,0,  SiO2  –  4,5, 

Al2O3 – 3,1, MgO – 1,5, CaO – 0,9  
MenOm + mCl2 = nMeCl(2m/n) + (m/2)O2. 

, ,  
 100 %. 

 98. ,  
,  800 0 : 

) CaO + Cl2  + C = CaCl2 + CO; 
) MgO + Cl2  + C = MgCl2 + CO; 
) FeO + Cl2  + C = FeCl2 + CO; 
) SiO2 + 2Cl2  + 2C = SiCl4 + 2CO; 
) Al2O3 + 3Cl2  + 3C = 2AlCl3 + 3CO. 

99.  
 600–1000 0 : 

) TiO2  + 2Cl2  = TiCl4 +O2; 
) TiO2 + 2Cl2  + C = TiCl4 + CO2; 
) TiO2 + 2Cl2  + 2C = TiCl4 + 2CO. 

 100.  800 0  100  
TiO2  1  

. : 
) ; 
)  

; 
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) ,  
 TiO2 ( ,  

); 
) ,  

 TiO2,  
 ( ),  

. 
101.  

? 
102.  

2 +  = 2  
 1073 . 

103. ,  
 1  ( . %): 

TiO2 – 86,0, FeO – 6,5, SiO2 – 4,6, MgO – 1,7, CaO – 1,2,  
 800 0 .  

104.  
,  

?  
 105. ,  

? 
106. ,  

? 
107.  – 10 ./  – 8 ./  

 
, ,  

? 
108. ,  – Ca, Na  Mg – 

 
 1000 0 . 

 109.         ,   
          ,     

1100 0 : 
) TiCl4 + 2Mg = Ti + 2MgCl2; 
)TiCl4  + 4Na = Ti + 4NaCl. 
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110. ,  
 

? 
111. ,  

, 
 1100 0 . 

112.  
 800 0   

, ? 
113. ,  1  
, ,  

 60 %. 
114. ,  

, 
.  

:  
? 

115.  
, ? 

116.  
. 
117. ,  1  
 ( . %): ) : 21,9 Cr – 67,9 Ni – 10,2 Fe; )  
: 3,96 Sn – 5,14 Zn – 89,93 Cu – 0,97 Pb; ) : 1,12 Mn – 

35,73 Ni – 63,15 Cu. 
118.   

,  ( . %): 
H4 – 94,2,    C2H6 – 3,0,   C3H8 – 1,2,   N2 – 1,0,   CO2 – 0,5,   H2 – 0,1?   , 

,  
 30 % .  

 1520 0 . 
119. ,  

? 
120.  

1000 0   4Al + 3C = Al4C3. 
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2.   
 

 
 

2.1.  
 

  ,  
 – 

.  
, , ,  

.  
 ( , , 

)  ( )  
 ( )  ( , , ). 

, ,  
.  

.  ( ) –  
 (Mez+ + z e  Me; 2 H+ + 2 e  H2 .). 
 ( ) –    

 (Me  Mez+ + z e; 2H2O  O2 + 4 H+ + 4 e   .). 
: 

1)   I [ , ]; 
2)   j [A/ 2, 2]: 

j = I/S, 
 S – .  

; 
3)    [%] 

 , 
, ,  

 
 ( , . .).  

, 
, ,  

: 
 = (P /P ) 100, 

 P  – ,  
; P  – ,  
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,  
. 

 P : 
P  = qIt, 

 t – , q – . 
  

,  
. 

,  
 [ /( )],  

 

zF
Mq , 

  –  ( ) , F – ,  
26,8 ( )/ , z – ,  

. 
  

,  
. 

  
 

n

i
ii qb

q

1

1 , 

 bi –  i  n , qi – 
;   

4)    [ , ]: 
P = qIt  

5)  W 
]: 

q
UW

310 ; 

6)  U [B].  
 

: 
U = E  + | | + | | + U  + U  + U , 

 E  – ;  – ;  –  
; U  – ; U  –  
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; U  –  
. 

  
 

E  = Ea
P – E . 

   
 ( ) ,  

.  
 

P

a
a

zF
RTEE ln0 , 

 0 – ; z – , 
; a   –  

. 
   

ai = iCi , 
 i – ; Ci – . 

  
 

zF
GE , 

 G – . 
  – ,  

,  
 ( ). 

 
 

2.2.  
 

1.          : 
) ; ) ; ) ; ) ; ) ; ) . 

2. , 
 ( . %):  – 90,  – 5,  – 3  – 2. 

,  
. 

3.  
? 
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4.  10 . 
 97 % ,  

. , , 
,  

:  
CuSO4 + H2O  2e  Cu + H2SO4 + 0,5O2. 

5.  
,  

  –  1000,        –  0,42  ,   – 
10 ,  – 98 %. 

6.  
 ( , , .)? 

7.  968  
 9  30  7030 . 

 282 .  
.  

8.  
  4    14  

95 %.  ( ),  
 5  48  47 

? 
9.  
 200 ,  ( . %):  – 90,  – 5,  – 3, 

 – 2.  300 ,  – 98 %.  
,  

.) 
10.  

 
? 

11. ,  
 1 , 

 58 . % Ag  42 . % Cu.  99 %. 
12.  2  2  15  

,  64 . % Cu  36 . % Ni. 
 2,5 . . 

13.  
? 
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14.  
 

 28  9 .  
 – 940 .  ( ) 
 5 % .  (  

) – 1,031  1 .  
95 %.  14 % . , 

 820 ,  
 30 .  8,92 3. 

15.  
? 

16.  
 1,5 3  2 % .  

  15 .  1 . 
17.  1000  

 15 . ,  
2,5 % . , , 

,  
,  87 %. 

18.  
. 

19. ,     
       10  

  96 %,           n = 36,  
860  860 .  8,92 3. 

20. ,  
 – 4810  1010  1160 ,   38    

(900    0,5    950 )    37    (855  51,5  900 ).  
 55 0 .  1 2  

 2,47 .  
 1 ,  

 15 ,  – 96 %. 
21.  

 200000  15 . 
 900  950  

,  – 250 2.  
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22.  
?  

23. ,  
,    20,        

     20 .  
 90 % . 

24.  
 150000  ( , 

).  0,94. 
 95 %.  10 . 

25.  
 10  20 ;  

: 86,6  CuSO4, 160  H2SO4.  ( )  (  
)  97 %.  

, . 
26.  

. 
27.  2 3  

              ( .  %):  99,6  –  , 
0,1 –  0,3 – . ,  

 
, .  

: ) , )  5 ,  
 10 ,  98 %. 

28.    4 3  
 10 ,  

0,05 . % Bi.  – 99 %. ,  
      Bi(OH)3  (  = 4,3 10-31),        

 5 
29.   ,       100 2,  

 0,3 . 
 – 8,9 3.  

 3 ,  90 %. 
30.  

,  
. 
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31.  
 600  

,  
3,1 ,  15 ,  96 %. 

32. -
 850  890 ,  
.  – 8,9 3.  

 
0,45 ,  200 2,  

 96 %.  
33.  

 
? 

34.                        
880  780  25 .  220 2,  
19 %,   5 %        .       

 100 %. ,  
 8,8 3.  

.  
35.  

? 
36.  

 3  250 2  96 %. 
 – 8,9 3.  

900  800 ,  
 ( )  0,5 . 

37.  3,2 . 
 

  3  %        ,           
 96 %.  1  

. 
 38.  

 10 , ? 
39.  

 9  0,6 3 .  96 %.  
 

,  70  Ni2+. 
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40.  
 ( . %): Ni – 90,5; Cu – 4,5; Co – 1,5; 

Fe – 3,5.  12  
 95 %.  

 0,75 3 .  
 86  ( ). 

 100 %.  
, , ,  

, , . 
41.  +0,34 . ,  

 
. 

42.  
 –0,55 .  

,  –0,77 ? 
43.  2  

 90  55 0  60 3 . 
. 

44.  Ni2+  
. 

45.  
. 

46.  20 ,   38  ,  
             240 2.  – 

96 %. , , 
 75  Ni2+.  

, ,   
           60  Ni2+. 

47.  
 pH ?  

48.  
 

? 
49. ,  

 FeSO4  1,9 ,  
 Fe2+  4,7 10-5 2 .  
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 200 2  95 %. 
 1 10-4 . 

50. , : ) -
, )  

, ) .  
. 

51.     20                  324 2  
 0,8 2  

 55,6 .  
. 

52. , 
 660  1050 ,  

 500 2,  
 24 .  90 %.  – 7,13 3.  
53. ,  

 ZnSO4 . ,  
 

 120–160 ? 
54.          

 = 4,  
. 
55.  

 (  
)  35 0 .  135  ZnSO4  150  H2SO4,  

.  Zn2+  
 0,5,  

. ( 0
Zn = – 0,762 B, 0

O2 = 1,229 B.) 
56.  16  

 90 %.  
 (155  Zn2+) ,  

 55 ? 
57.  

 17  
100000 .  3,75  .  

 90 %,  0,95.  
 3 %  
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. ?  
 1 ? 

58.  
,  

. 
59.  20  

 91 %.  
 50  145 .  

 
    ,             

130 . 
60. ,  

,  25 ,  120  
.  H2SO4 ,  

 45 .  
61.  

: ) ; )  
; ) ? ,  

. 
62. ,  

,  
 20 ,  91 %. ,  

. 
 63.     ,      

  ,         22 ,  
 145 . ,  

 ZnSO4     H2SO4 ,  
.  

,  45 ? 
   H2SO4 ?  

90 %,  2,7 2,  0,77 /( 2 ). 
64. ,  

.  
65.  

,  16 ,   -
 400 .  1,7 2. 

 – 0,021 2 .  
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2.3.  
 

66.  
, ? 
67. -

,  
? 

68.  
. %): 51,42 – F; 28,29 – Na, 3,29 – , 17,0 – Al.   

. 
69. , , 

 10  
2,6  5 . % Al2O3. 

70.  
 2,5 – 2,7? 

71.  
? 

72. , , 
,  2,0,  

 3,0 . %.  
,  2,5,  

 10 ? 
73.             : 

I =  160  ,  U = 4,4 ,  = 86 %.  
:  I = 162,5 , U = 4,35 ,  = 86,5 %.  

 
, . 

74.  
? 

75.  
 156  

 84 %.  – 550.  
76.  

 100000  
,  88 %,  

 0,96? 
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77. ,  
 

. 
78.  

? 
79.  

: 
) Al2O3 + 1,5 C = 2 Al + 1,5 CO2; 
) Al2O3 + 3 C = 2 Al + 3 C  

 1300 . 
80.  150  

  145        30      4700    ,   
99,5 . % Al.  (  

”)  V = 695 .  
            (      

100 %- ). 
81.  

? 
82.  

 4,5 .  “  
” 6 ,  – 1 .  

 – 88 %.  
,  

 30 .  
83.  

 200000  
,  

 6  3 .  
”  

 32 .       87  %.  
 1  20 . 
84.  

. 
85.  

 175  24  1450  700  
 600 .  1,6 3.  
 60 . % 2  40 . % .  
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1 ,  20 %  
,  

 17 %   . 
         86 % ,  

.  
86. ? 
87. ,  

? 
88.  

 96 %,  5,2 . 
 1  

. 
89. , ,    

     1       KCl : NaCl (3:1 .) – 12 . % 
MgCl2. 

90.  700 0  
:  

) KCl : NaCl (3:1 .) – 15 . % MgCl2; 
) KCl : NaCl (1:1 .) – 5 . % MgCl2; 
) KCl : NaCl (1:1 .) – 20 . %  MgCl2; 
)  KCl : NaCl (1:3 .) – 15 . % MgCl2. 

 3. 
91.  MgCl2  

?  
? 

92.              120 . 
 82 % (  Mg2+ +  2e  =  Mg0), 

 85 % (  2Cl – 2e = Cl2
0). 

 
 720 0  (  

 3,1 ). 
93.  130  

   78 %  5,5 .   
 

 MgCl2,  
. 
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94.  
. 

95.  
810 0 . 

96.  MgCl2 – KCl  720 0  
 0,11.  MgCl2  

,  
 2,52 . 

97. ,  
, ? 

98.  
, : 

KCl  :  NaCl  (3:1  .)  –  15,6  .  %  MgCl2.  700 0 . 
 0,001.  

99.  – 5,2 . 
 7 ,  

 0,52 .  
 0,45 2.  

,  
 – 6 %. 

100.  
 7  

 0,52 2. : 
KCl  :  NaCl  (3:1  .)  –  15,6  .  %  MgCl2.  700 0 . 

 – 5 %. 
101. ,  

,  
. 
102.  

 
: KCl : NaCl (1:1 .) – 10 . % MgCl2  

700 0 .  
4,1 10-5 2 .  1,4 10-2 . 

103.  
? 

104. , , 
 5 . % ,  
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 (KMgCl3),  
 – 9,0 3?  

 14 . % MgCl2.  1,6 3 
. 

105.  700 0  
: 

) KCl : NaCl (3:1 .) – 10 . % MgCl2; 
) KCl : NaCl (1:1 .) – 5 . % MgCl2; 
) KCl : NaCl (1:1 .) – 15 . % MgCl2. 

 3. 
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 1 
 

1. 52 . % uFeS2. 2. CuFeS2 – 1,44 . %, FeS2 – 5,6 . %. 3.  
. %): FeS2 – 80,27, Fe7S8 – 5,26, ZnS – 1,64, CuFeS2 – 1,44. 4.  ( . %): 

Cu5FeS4 – 29,94,  ZnS – 1,64,  Cu2S – 21,96.  6. 1914 3;  28,1 % SO2,  71,6 % N2, 
0,3 % CO2. 7. 50  %.  9.  )  310 ;  )  347 ;  )  305 ; 
)  266  ;   )   266  ;   )  311  .   10.  1583  . 

12.  ) Fe3O4;   ) Cu2O.   13.  ) 0,385;  ) 3,1 10-5.   15. 531 0 .   16.   = 0,713. 
17.  1,56   . %  SO3.   18.   ) 791  CH4;   )   1428     C2H6;   
)  1256   C2H2;   ) 1323  /  C2H4;   ) 2044    C3H8. 

19. 11,55 3 3 ,  ( . %): 2 – 1,8, N2 – 72,5, CO2 – 9,2, H2  – 16,5. 
20. ) 40656 ; ) 28925 . 21. 1992 3. 22. 2028 0 . 23. 1977 0 . 
24. 68123 .  25.  9290 .  26. 4,58 10-5.   27.  6,3 . 29.  

. %): N2 – 71,66, H2O – 17,04, CO2 – 8,78, O2 – 1,73, SO2 – 0,78.  31. 24378 . 
32. 1,1·10-4 . 34. 15,22 3  100 . 35.  1,44 . 36. ) 935,2 ; 

) 616,3 ;  ) –1030,4 .  38.  ) –135,1 ;  ) –81,4 ;  ) 30,0 . 
40.   235,37  .   41.  Cu2O.   42.  0,18  .  %.   44.  10,6 .   45.  3 ; 
46.  13 .   47.   ( . %): N2 – 79, SO2 – 20, O2 – 1;  2,34 .   48. 0,309 . 
50.  ) 77,06 ;  ) 46,47 ;  ) 278,62 .   52.  2094 3.   53.  2,3 . 
55. ) 6264; ) 36,5; ) 3,6; ) 10408. 56. 2,7 10-5 . 57. Cu2O + CO 2Cu + CO2. 
59.  1,23  .    60.  [Ni]:[Cu] = 163.    62.  0,94  .  %.    63.  2 :  = 1495. 
65. 3169405 . 66.  ( . %): (Ni,Fe)9S8 – 18,98, CuFeS2 – 17,32, (Co,Fe)S2 – 
0,46,  Fe7S8 – 41,64.   68.   1,25.    71.    ( .  %):  Ni3S2 – 77,0, Cu2S – 3,9, 
CoS – 1,4, Ni – 12,5, FeS – 4,7,  – 0,5.  72. 1448 3.   73.  19,1 . % SO2. 
75. ) G0 = 471,0 – 0,173 T, ;  ) G0 = –467,7 + 0,146 T, .  76. 1,5 10-8. 
78.   ) 29,8 ;   ) 30,4 ;   ) 163,6 ;   ) –101,9 ;   ) –427,1 ; 
) 164,5 .  79. 20030.  80. ) 177 0 ; ) 437 0 .  82. 1,11 . %.  83. 212 . 

84. G0 = 167,7 – 0,172 T, .    86.  ) –189 ;  ) –237 ;  ) –142 . 
87.  530,6 .    88.  ) 62 . % H2, 38 . % H2O;  ) 94 . % CO, 6 . % CO2. 
89.  2873 0 .   91.  ) –100,6 ;  ) –123,5 ;  ) –300,8 ;  ) –377,6 ; 

) –66,6 . 92. 123385. 94. 82,3 . 97. 0,558 3 . 98. ) 243,3 ; 
) 106,6 ;   ) 138,9 ;   ) –26,8 ;  ) –231,4 .  99. ) G0 = 175,56 –  

– 0,055 T, ; ) G0 = –221,07 – 0,0545 T, ; ) G0 = –52,17 – 0,2277 T, 
. 100. ) 0,15 . %; ) 0,294 ; ) 19044,6 3 .; ) 56,1 3 . 

102. 88,4 . % CO, 11,6 . % CO2.   103. 1123 .   105.  2369 0 .   107. Mg. 
108.  Ca.  109. ) 414,3 ; ) 1136,3 .  111.  8649  Ti.  112. 1496 0 . 
113. 1691 .   117.  ) 700    Ni, 200    Cr, 100    Fe;  ) 850  Cu, 70  Sn, 
50    Zn,   30    Pb;   )  650    Cu,  340    Ni,  10    Fe.   119.  2022  0 . 
120. –154,3 . 
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 2 
 

1.   )   1,095  ;    )   1,185  ;    )   1,042  ;    )   1,099  ; 
)  0,336 ;   )  0,453  .    2. 1,098 .   4.  H2O – 3,3 , Cu – 11,5 , 

H2SO4 – 17,7 , O2 – 2,03 3.  5. P = 101730 , W = 362 .  7.  = 94,6 %, 
W = 241 .   8. 36,5 .   9. 620 .   11. 426,8 .   12.  = 48,2 %, Cu = 
= 30,9 %, Ni = 17,3 %.   14.  = 43 .  16. u = 237 3.  17. 29 ; 19. m = 
= 3,8 ,   = 0,57 .  20. 465 . 21. 36 . 23. 3 . 24. 1618 -

.  25. CuSO4 – 62,5 , H2SO4 – 175 .  27. ) 12 ; ) 36 .  28. 61 . 
29. 9 .  31. P = 82877 , W = 2949 .  32. 19 .  34. m = 261 ,  = 43 . 
36. m = 30,45 .  37. W = 3135 .  39. 54,3  Ni.  40. C Ni = 69,4 , C Ni = 
=  85,2  ,  C Fe = 0,61  ,  C Cu = 0,79  ,  C Co = 0,26  .    43. Ni = 96 %. 
46. 37 . 49. 0,06 . % Fe. 51.  = 84,6 %, mZn = 0,891 . 52. mZn = 9,13 ,  = 
= 1,85 . 54. 6,4 1017  ZnSO4. 55. 2,003 . 56. 0,18 3 . 57. 644 -

, W = 3518 . 59. 22,2  Zn/ , 0,28 3 . 60. 112,5   H2SO4.  
62. H2 – 0,745 , O2 – 4,179 .  63. 0,23 3 , 159   H2SO4. 65. 2001,5 . 
68.  KO = 2,5.    69.  0,5    Al2O3,  4,13    AlF3,  5,37    NaF.   72.  0,83    Na2CO3. 
73. P = 23,8 , W = –261 . 75. 1094,5  Al2O3. 76. 505 -

.  7 9.  ) 1,153 ;  ) 1,007 .   80.  = 89 %, W = 15515 .  82. W = 
= 15689 .  83. 914965403 .  85. 761 , 0,487  Al.  88. 16189 . 
89.  669  KCl,  175  NaCl,  156  MgCl2.   90. )  1,564 3;  )  1,575 3; 
) 1,580 3; ) 1,593 3. 92.  = 1070 , V = 1,05 3. 93. W = 15553 , 

4,33  MgCl2. 95. 2,453 . 96. 2,61 . 98. 6400 . 99. 33,4 %. 100. 2,135 . 
102. 0,935 2. 104. 2,54 . 105. ) 0,525 ; ) 0,454 ; ) 0,502 . 

 
 



 
 

 1 
, ,  

 [7] 
 

, 
 

 
 

– H0
298, 

 
S0

298, 
 

, 
 

L , 
 

,  
 

 L ,  
 

,  
 

L , 
 

Al  0 28,32   933 10,711 2723 290,79 
Al4C3  207,27 88,95   2500    
ACl3  705,63 109,29   466 35,35 454  117,15 
ACl3  584,50 314,29       
AlF3  1510,42 66,53 728 0,56   1549  272,38 

Al2O3  1673,60 51,04   2323 87,45   
C( )  0 5,74       

CH4  86,00 186,31       
C2H2  –226,75 200,80       
C2H4  –52,28 219,40       
C2H6  84,67 229,49       
C3H8  103,85        
CO  110,53 197,56       
CO2  393,51 213,68       
Ca  0 41,63 737 0,97 1123 8,54 1756 150,62 

CaCl2  800,82 113,81   1055 28,45   
CaO  633,46 40,00   2888 71,96 3773  

CaCO3  1206,67 88,70       
Cl2  0 222,96       



 1 
 

, 
 

 
 

– H0
298, 

 
S0

298, 
 

, 
 

L , 
 

,  
 

 L ,  
 

,  
 

L , 
 

Cu  0 33,35   1356 13,01 2843 306,7 
Cu2O  170,6 93,10   1515 64,23   
CuO  155,7 42,68   1395  11,80   

Cu2S  82,0 119,25 376 
718 

5,61 
1,21 1403 10,88   

CuS  50,6 66,53       
CuFeS2  188,3 148,12   1273    
CuSO4  769,89 112,14   1078P    

Fe  0 27,16 
1033 
1185 
1667 

5,10 
0,91 
1,11 

1809 13,81 3343 349,8 

FeCl2  342,25 120,08   950 43,10 1347 125,52 
FeCl3  400,41 134,72   588 36,86 605 30,33 
FeCl3  148,53 287,48       
FeO  264,9 60,75   1650 30,96 2592 432,6 

Fe2O3  825,5 87,45 953 0.67 1735P    
Fe3O4  1120,9 146,24 866 0 1867 138,08   

2FeO·SiO2  1476,5 145,18   1493 92,05   

FeS  100,4 60,29 411 
598 

2,38 
0,50 1468 32,34   

FeS2  163,18 52,93       
FeSO4  922,62 107,53   944P    
FeTiO3  1236,4 104,18   1658 90,8   

H2  0 130,57       



 1 
 

, 
 

 
 

– H0
298, 

 
S0

298, 
 

, 
 

L , 
 

,  
 

 L ,  
 

,  
 

L , 
 

HCl  92,31 186,77       
H2O  285,83 69,95     373 43,97 
H2O  241,81 188,72       

K  0 64,18   337 2,34 1030 79,08 
KCl  436,56 82,55   1044 26,28 1710 155,39 
Mg  0 32,51   923 8,49 1378 140,58 

MgCl2  641,62 89,54   987 43,10 1710 136,82 
MgO  601,24 27,40   3098 77,40   

N2  0 191,50       
Na  0 51,25   371 2,64 1155 107,53 

NaCl  411,41 72,13   1074 28,16 1738 170,29 
NaF  572,87 51,46   1269 33,47 2060 251,88 
Ni  0 29,79 631 0,59 1728 18,67 3187 370,4 

Ni3C  –67,36 106,27       
NiO  239,5 38,08 525 0 2228 50,63   
Ni3S2  202,1 133,89   1081 24,27   
NiS  84,9 52,93 669 –2,64 1283    

NiSO4  873,53 103,77   1113P    
O2  0 205,03       
Pb  0 64,81   601 4,824 2018 177.94 

PbCl2  359,82 134,28   771 24,267 1227 126,77 
PbO  219,29 66,11 762 0,42 1170 25,52 1808 228,03 
PbS  100,42 91,21   1392 17,57 1553 229,28 



 1 
 

, 
 

 
 

– H0
298, 

 
S0

298, 
 

, 
 

L , 
 

,  
 

 L ,  
 

,  
 

L , 
 

Si  0 18,83   1688 49,79 3522 85,00 
SiCl4  687,85 239,74     330 28,62 
SiO2  

( )  910,94 41,84 846 0,63     

S ( .)  0 31,92 368,5 0,40 392 1,25 718 10,46 
S2  –127,39 228,03       

SO2  296,91 248,08       
SO3  395,87 256,70       
Ti  0 30,65 1155 4,18 1941 13,22 3591  

TiC  183,68 24,27   3290 83,68 4578  
TiCl4  804,16 252,40     410 35,77 
TiO  519,61 51,04 1264 3,43 2023 58,58 3934 383,25 
TiO2  944,75 50,37   2143 66,94   
Ti2O3  1520,84 78,79 473 0,92 2112 110,46   
Ti3O5  2459,15 129,29 450 11,76 2173 138,07   

Zn  0 41,63   692,5 7,23 1180 115,31 
ZnO  350,63 43,64   2248    
ZnS 

)  205,98 57,74   2048    
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 Cp = a + b 10-3T + d 105 T-2 /( ) [7] 

 
, 

 
 

 a b d  
,  

Al  20,67 12,38  298 – 933 
Al  31,75   933 – 1650 

Al4C3  100,75 132,21  298 – 600 
ACl3  55,44 117,15  273 – 466 
ACl3  130,54   466 – 500 
ACl3  82,84  –11,05 298 – 1800 
Al2O3  114,56 12,89 –34,31 298 – 2315  

C ( )  17,15 4,27 –8,79 298 – 2300 
CO  28,41 4,10 –0,46 298 – 2500 
CO2  44,14 9,04 –8,53 298 – 3500 
 – Ca  22,22 13,93  298 – 737  
 – Ca  6,28 32,38 10,46 737 – 1123  
Ca  30,12   1123 – 1756  

CaCO3 
( ) 

 84,22 42,84 –13,98 298 – 1000 
CaCl2  71,88 12,72 –2,51 298 – 1056  
CaCl2  102,53   1056 – 1800 
CaO  48,83 4,52 –6,53 298 – 2888  
CaO  69,04   2888 – 4000 
Cl2  36,90 0,25 –2,84 298 – 3000 
Cu  22,64 6,28  298 – 1356  
Cu  31,38   1356 – 2800 

Cu2O  62,34 23,85  298 – 1200 
Cu2O  100,42    1509 
CuO  38,79 20,08  298 – 1250 
CuO  92,05    

 – Cu2S  81,59   298 – 376  
 – Cu2S  97,28   376 – 623 
 – Cu2S  85,02   623 – 1400 
CuS  44,35 11,05  273 – 1273 

CuSO4  78,54 71,97  298 – 900 
 – Fe  17,49 24,77  298 – 1033  
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 2 

, 
 

 
 a b d  

,  
 – Fe  37,66   1033 – 1185  
 – Fe  7,70 19,50  1185 – 1667  
 – Fe  43,93   1667 – 1809  
Fe  40,88 1,67  1809 – 3000 

FeCl2  79,24 8,70 –4,89 298 – 950  
FeCl2  102,17    950 
FeCl3  123,68  –25,56 298 – 588  
FeCl3  133,89   588 – 605 
Fe   51,80 6,78 –1,59 298 – 1200 
Fe   68,20   1650  – 3600 

 – Fe2 3  98,29 77,83 –14,85 298 – 954  
 – Fe2 3  150,63   954 – 1054  
 – Fe2 3  132,64 7,36  1054 – 1735 
 – Fe3 4  91,55 201,68  298 – 866  
 – Fe3 4  200,84   866 – 1867  
 – FeS  21,72 110,46  298 – 411  
 – FeS  72,81   411 – 598  
 – FeS  51,05 9,96  598 – 1468  
FeS  71,13   1468 – 1500 
FeS2  74,81 5,52 –12,76 298 – 1000 

FeTiO3  116,61 18,24 –20,04 298 – 1658  

2FeO·SiO2  148,99 39,16 –28,03 298 – 1493  

2FeO·SiO2  240,58   1493 – 1724 
H2  27,28 3,26 0,50 298 – 3000 

HCl  26,53 4,60 1,09 298 – 2000 
H2O  75,44   273 – 373 
H2O  30,00 10,71 0,33 298 – 2500 
Mg  22,30 10,25 –0,43 298 – 923  

Mg  33,89   923 – 1130 
Mg  20,79   298 – 2000 

MgCl2  79,08 5,94 –8,62 298 – 987  

MgCl2  92,47   987 – 1500 
MgO  57,38   298 – 3098  

Na  20,92 22,43  298 – 371  
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, 
 

 
 a b d  

,  
Na  37,45 –19,15  371 – 1100 
Na  24,60 4,23   1100 
Na  20,79   298 – 2000 

NaCl  45,94 16,23  298 – 1074 
NaCl  66,94   1074 – 1700 
NaCl  37,28 0,84 –1,67 298 – 2000 
 – Ni  32,64 1,97 –5,59 298 – 631  
 – Ni  29,71 4,18 –9,33 631 – 1728  
Ni  38,91   1728 – 2200 

 – NiO  –20,88 157,24 16,28 298 – 525  
 – NiO  58,08   525 – 565  
 – NiO  46,78 8,45  565 – 1800 
NiO  59,83    
NiS  38,70 53,56  298 – 600 

NiSO4  125,94 41,51  298 – 1200 
2  29,96 4,18 1,67 298 – 3000 

Pb  23,56 9,75  298 – 601 
Pb  32,49 –3,10  601 – 2018 
Pb  19,37 1,76 0,75 298 – 2000 

PbCl2  66,78 33,47  298 – 771 
PbCl2  104,18   771 – 1227 
PbO  44,35 16,74  298 – 762 
PbO  46,36 11,34 –3,56 762 – 1170 
PbO  65,00   1170 – 1789 
PbS  45,10 11,38  298 – 1281 

S ( .)  14,98 26,11  298 – 368,5 
S  14,90 29,12  368,5 – 392 
S  22,59 23,01  392 – 718 
S  22,01 –0,42 1,51 298 – 2400 
S2  35,73 1,17 –3,30 298 – 2000 

2  43,43 10,63 –5,94 298 – 1800 
3  57,32 26,86 –13,05 298 – 1200 

 – Ti  22,09 10,04  298 – 1155 
 – Ti  18,16 9,21  1155 – 1941 
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 2 

, 
 

 
 a b d  

,  
Ti  35,56   1941 – 3558 

TiC  49,50 3,35 –14,98 298 – 3290 
TiC  62,76   3290 – 4500 

TiCl4  145,60   298 – 410 
TiCl4  106,48 1,00 –9,87 298 – 2000 
 – TiO  44,22 15,06 –7,78 298 – 1264  
 – TiO  49,58 12,55  1264 – 2023  
TiO  66,94    2023 
TiO  35,06 1,09 –3,64 298 – 4000 
TiO2  

)  75,19 1,17 –18,20 298 – 1800 

TiO2  87,86    2143 
 – Ti2O3  73,22 274,05  298 – 473  
 – Ti2O3  145,10 5,44 –42,68 473 – 2112  
Ti2O3  156,9   2112 – 3300 
 – Ti3O5  148,41 86,11  298 – 450  
 – Ti3O5  174,05 33,47  450 – 2173  
Ti3O5  234,30    2173 

Zn  22,38 10,04  298 – 692,5  
Zn  31,38   692,5 – 1180 
Zn  20,79   298 – 1200 

ZnO  49,00 5,10 –9,12 298 – 1600 
ZnS 

)  50,88 5,19 –5,69 298 – 1200 
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.1.    

KCl – NaCl – MgCl2  700 0 , -1 -1  [9]. 
 
 
 

 
 

.2.    
KCl – NaCl – MgCl2  700 0 , 3 [9]. 
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